Name:

January 07, 2022

Sr: 07012022-2474

MATHS WORKSHEET [ Shrs @

GEMERAT

ok

GCSES

1) 14 6/,c-20 4,

Answer:

2) 52+ 519

58

Answer:

3) Round 15.5831720 to 1 decimal places.

Answer:

4) b 5) 'What isthe probability of rolling 6) Find area of triangle
factors of 3.when rolling adice a=917in,b=954in
b [
a o} c 0
Measure angle boc a
Answer: Answer: Answer:
7)  Find the percentage change from 13to || 8) 6%, + 2013/, 9) 3715 % 281,
78
Answer: Answer: Answer:
10) 3715 x 28, 11) Solve1x2+7x-2=0 12)  756.8+6325
Round your solutions to 1 decimal
place.
Answer: Answer: Answer:
13) Increase 86.9 by 84% 14)  Increase 86.9 by 84% 15) 495.3 + 409.1
Answer: Answer: Answer:
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16) (-735) - 203 17) 8/, + 108/, 18) Round 28.257407 to the nearest
whole number.
Answer: Answer: Answer:
19) 16000 + 1000 20) 20710+ 2% 21) 'What isthe probability of rolling a
multiple of 1.when rolling adice
Answer: Answer: Answer:
22) A number was shared in theratio 23) Share 48 in theratio 7:5 24) 7/59 of 118
15:42. The smaller share was 40.
What was the larger amount?
Answer: Answer: Answer:
25)  Factorise g2 + 9q + 20 26) Factorise g2 + 9q + 20 27) 15/ 6
gl2
Answer: Answer: Answer:
28) 4/ 18 - 13/10 29) 302.48 ~ 19.9 30) Find the range of the following set of data:
5,12,0.2,0.9, -3, 20
Answer: Answer: Answer:
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31) 32) Round 16.1820898 to 6 significant 33) Find the percentage change from 10
204~ figures. t0 26
Volume of Cone
20
Answer: Answer: Answer:
34)  Findtherangeof thefollowing setof deta 35) Find perimeter of 36) b
0.5, 17,-5,10,5,3,0.1 triangle
b b a=290cm,b=
692 cm a o] c
3 Measure angle boa
Answer: Answer: Answer:

37) Factorised? + 7d + 10

Answer:

38) Share 55 in theratio 34:21

Answer:

39) Findthevalue of 'j' by completing the
square of the following equation: 2 +
8 +15

Answer:

40) Simplify 49:21

41)  797-599

42)  Find the percentage change from 5 to
96.8

Answer: Answer: Answer:
43) (F)indsthe mean of the following set of data: 44) 7/9 X 14/9 45) 142/20 . 46/7
Answer: Answer: Answer:
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15 12 15 12
46) 31.2+515.8 47) /17X 1 48) /17X 1
Answer: Answer: Answer:
49) 15/17 X 12/19 50) 2/6 + 15/17 51) Find the range of the following set of data:
-13, -6, -16, 0.9
Answer: Answer: Answer:
52) 1/32 of 288 53) Share 46 in theratio 10:13 54) 380.2+712.9
Answer: Answer: Answer:
55) Round 23.7943350885 to the nearest 56) 11,6+ 14%, 57) Solvel5f2-5f-4=0
whole number. Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
58) Simplify 23:10 59) 62-18+18 60)  156.4-437.1
Answer: Answer: Answer:
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61) 62) Convert the following mixed number 63) 3/94 of 282
Find the next three numbersin ]_818/19 into an improper fraction.
the sequence
47,40,60,53,73,66,86_, ,
Answer: Answer: Answer:
64) Decrease 245 by 1/49 65) Find the range of the following set of data: 66) (19 X4 - 17) _ 122
9,19,-1,-09
Answer: Answer: Answer:

67) (-658) + 823 68) 69) Write 0.007 in standard form.
Find the next three numbersin
the sequence
0112358 , .,
Answer: Answer: Answer:
70) 1020 + (-30) 71) 72) 108.3 + 808.4
Find Volume of
Cylinder
Answer: Answer: Answer:

73)  874-700

Answer:

74) A number is chosen at random from
1 to 50. Find the probability of
selecting number less than 12.

Answer:

75) 966 - 859

Answer:
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o
=

0.3,-5,-0.1,19,19,0.1

83)
31 _,, Find Volume of Cone

76) 77) 2% g 78)  Convert the following improper
fraction 189/13 + 43, into amixed
number

A =36 B
Find the Angle at side B.
Answer: Answer: Answer:

79) Convert the following improper 80) 81) (210)1

fraction 18%/ 13t 43/ 4 into amixed Find the next three numbersin
number the sequence
80,85,340,345,1380,1385,5540 _, , |
Answer: Answer: Answer:
82) Find the range of the following set of data:

84) Solvelx?-11x+18=0
Round your solutionsto 1 decimal

== place
30

Answer: Answer: Answer:

85) 1 9%,-6 54 86) Round 14.328758826 to the nearest 87) Increase 75 by %/,
whole number.

Answer: Answer: Answer:

88) Find area of square 89) (n'15)1 90) Find the median of the following set of data:
having each side (s) 20, 30, 20, 15, 11, 16, 8, 24, 14, 36,
s equals 899 in 8
s
Answer: Answer: Answer:
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91) 1874+ 18/, 92) 93) 'What isthe probability of rolling a
even prime number.when rolling a
dice

A=21 B

Find the Angle at side B.
Answer: Answer: Answer:

94) 16 8/,,-3 g 95) Find area of square 96)
having each side (5) 284~
s equals 986 ft
Volume of Cone
= 28

Answer: Answer: Answer:

97)
28__tx

Volume of Cone
28

Answer:

98) 1182.15+33.3

Answer:

99) Anamount was increased by 4.4% to
$221.61. Find the origina amount.

Answer:

100) Anamount wasincreased by 4.4%
to $221.61. Find the original
amount.

Answer:

Total: /100
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Name:
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1) 122/

8) *¥¥ 1465
15) 904.4
22) 112
29) 15.2

36) 26

43)4
11,
50) 1M/g,
57)f=0.70r-0.4
64) 240
71) 15927.8747537
23
78) 2349,
1
85) 103%,
92) 159
99) $212.27

2)513
9) 919,
16) -938

23)4:44
30) 23

37) (d+2)(d+
5)

17,
44) 1Y),
51) 16.9
58) 23: 10
65) 20
72) 916.7

23
79) 23%3,
86) 14

1
93) Y
100) $212.27

3156

10) 919/,

17) 15,

24) 14

31) 8377.5804095728

38)1:54

45) 2307/,

52)9

59) 36

66)

73) 174

80) 5545,22180,22185,
87) 85

94) 1239
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Answers:

4)125
11)x=0.30r -7.3
18) 28

25) (@ +4)(q+5)
32) 16.1821

39) (j + 4)2-1

46) 547
53) 2: 44
60) -280.7
67) 165

74) Wiy

81) 210

88) 808201in
95) 972196ft

GEMERA

5 1,

12) 1389.3

19) 16

26) (q+4)(a+5)
33) 160%

40)7:3

47) 1805,

54) 1093.1

61) 79,99,92,

68) 13,21,34,

75) 107

82) 24

89) n'1d

96) 22988.080643868

Sr: 07012022-2474

6) 437409in
13) 159.896
2
20) 3%,

27) &0
34) 22

41) 198

48) 180/323

55) 24

62) 360/,

69) 7x 103

76) 144

83) 7304.2029195963
90) 16

97) 22988.080643868

11-PLUS
SATS
GCSES

A0
{'”ﬂ'—)

7) 500%
14) 159.896
201,

28) 20,

35) 1674cm
42) 1836%

49) 180/,
56) 135/, 104
63) 9

70) -34
ml,
84)x=9or2
91) 42350
98) 35.5
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